oy
@ £ p %P Multiplique decimais por poténcias de dez

Nome: Encontro: Data: Pontuagdo:
4, 858 x 100000 = 7,389 x 1000000 =
4,633 x 100 = 3, 13 x 10000 =
5,137 x10= 6, 501 x 100000 =
1,686 x 10000 = 3,685 x 100000 =
7,806 x 100000 = 10,649 x 10 =
9, 507 x 10000 = 7,5 % 10000 =
7,707 x 100000 = 2,644 x 10000 =
10, 787 x 100 = 3,995 x 1000 =
8,661 x 1000 = 10, 043 x 100000 =
7,108 x 10 = 7,319 x 1000 =
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D
(@ % p % Multiplique decimais por poténcias de dez

Nome: Encontro: Data: Pontuagio:
4,858 % 100000 = 485800 7,389 x 1000000 = 7389000
4,633 x 100 = 463.3 3, 13 x 10000 = 31300
5,137 x 10 =51.37 6,501 x 100000 = 650100
1, 686 x 10000 = 16860 3, 685 x 100000 = 368500
7, 806 x 100000 = 780600 10, 649 x 10 = 106.49
9,507 x 10000 = 95070 7,5 % 10000 = 75000
7,707 x 100000 = 770700 2,644 < 10000 = 26440
10,787 x 100 = 1078.7 3,995 x 1000 = 3995
8,661 x 1000 = 8661 10, 043 x 100000 = 1004300
7,108 x 10 = 71.08 7,319 x 1000 = 7319
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